
P I Z Z A S L I C E

x = 6 x = 4 x = 9 x = 9 x = 12 x = 2 x = 8 x = 4 x = 5 x = 7

One Step Equations
Worksheet 

Name: _______________________ Date: _________________

Directions: Solve each equation and write the letter
above the line that the answer corresponds to.

❓ Riddle: What type of pizza does a mathematician eat?

B 

x + 3 = 9

Now, use the answers to fill in the riddle:
P  I  Z  Z  A  S  L  I  C  E

Answer: A Pizza Slice!

x = 6

M

x × 3 = 27

x = 9

H

x − 7 = 0

x = 7

T

x − 10 = 2

x = 12

A

4x = 16

x = 4

N

x + 2 = 14

x = 12

D

x − 2 = 6

x = 8

F

x ÷ 5 = 1

x = 5

K

x ÷ 3 = 3

x = 9


